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1. In a certain species of animal, black fur (B) is dominant over brown fur (b). Using the following Punnett square, predict the genotypes and phenotypes of the offspring whose parents are both Bb or have heterozygous black fur.

Genotypes:

	
	

	
	


     ___________% homozygous black fur (BB)

     ___________% heterozygous black fur (Bb)

     ___________% homozygous brown fur (bb)

       Phenotypes:
                  __________% Black fur

 __________% Brown fur

2. Now do the same when one parent is homozygous black and the other is homozygous brown.

	
	

	
	


Genotypes:

     ___________% homozygous black fur (BB)

     ___________% heterozygous black fur (Bb)

     ___________% homozygous brown fur (bb)

       Phenotypes: 

 __________% Black fur

__________% Brown fur

3. Repeat his process again when one parent is heterozygous black and the other is homozygous brown.

Genotypes:

	
	

	
	


     ___________% homozygous black fur (BB)

     ___________% heterozygous black fur (Bb)

     ___________% homozygous brown fur (bb)

       Phenotypes:
                 __________% Black fur

__________% Brown fur

4. In dogs, a dominant gene (W) produces wire-haired texture. The recessive allele (w) produces smooth hair. A homozygous wire-haired male is mated to a female with smooth hair. What genotypes and phenotypes are expected in the F1 generations, and in what ratios? In the F2 generation?

5. Normal pigmentation in humans is the result of dominant allele (A), while albinism (no pigmentation) results from the recessive allele (a). Two heterozygous individuals plan to have a child.

a. What are the phenotypes of the parents?__________________

b. What is the chance that the child will be albino?

6. Short hair (L) is dominant over long hair (l) in rabbits. Two heterozygous rabbits are mated. What phenotypes are expected in the offspring and in what ratios?

7. A dwarf tomato plant results from the homozygous recessive genotype (dd). The presence of the dominant allele (D) produces a tall plant. Two tall plants, each carrying the recessive allele, are crossed. What genotypes are expected in the offspring and in what ratios?

8. In guinea pigs, rough coat (R) is dominant over smooth coat (r). A homozygous dominant guinea pig is mated with a smooth guinea pig. What fraction of the F1 generation is expected to have a smooth coat? What fraction of the F2 is expected to have a smooth coat?

9. In sheep, white wool (B) is dominant over black wool (b). Two heterozygous sheep are crossed. What fraction of the white lambs are heterozygous?
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